1

SF6HE1HA26H

F =T r—SNEE B

SRS HAHRAT 2R
BHE) | FE5 T

FREEk
HOFE Ok oE &
TRUZDOWT [ A LW TREEZRZBECET,
it
1 4 W (RHSEIER) A
1 %8 B X M OA B RR SFE6HE3A25HET
1 T F X T W A8 AT BT S8 I & OV R Al
1 fh Bk B % A8 AT EPES AT DL 0T 5, (EMEESE, EFES AT L0
FIEE RS 7 v m— MEREZ IV TIT O 720, BRI X T v — RORRIC
(7 m—RUTERIFIZOWTETE « BUHA TN BRI Hh@Em A —
NOWEEFHET D] IF=v 2 ANDET L, )
2L, RUEHRRVERICEY, BEFREVATACIVATRTER
WA, TR LIciunabes 2 &,
EFFE AT AOURL
https://www.geps.go.ip/
1 fhBE B % A B K SM6EFE1H26H 9F00N b
SF6E2A2H1I7TH0OO0, £T
1R OB OE R oW %A EwaEPIE: =2 St
1 RO E R MO8 OR SF64E2A15H1 7HO0 0%
1 AWk E @ & B SF64E2H16H
L . A B ORI T 2 P 512 72 > Ol SR 2 S 7= L TR B I
O H BB ORISR 2 e U T2 812 IR U784 (Y%4EHIC 1 IR OmEDN
B L EIE, TOWBARAD B TR &1 TROMEET 50T, B
AT, HEBLKR OCHITHBRBUC R DB FEEE ChH LIRS (T CThH 0 %
Mo, ARG o T ROGEGHE D YL FITIR D B O 7 W BLICH
UYL U ey AAEICESRT s L,
1 82 % HR G & 1 55
1 KMm (NiRE) kRO fh
ke e 2T 5,

1 B EFEMEROE

1 % F M & & A4 - 5 - 6AREE LB EBASIMEE (RETH K o
WRIEL @ TN - il ) DORFBMEREZETLETHD L,

i}

EREHEN 1 5 0 H B2 585138

1 RAELRE] £
4 = %= AMLEEITHER
1 X ¥ Xix B &M FEEEL
1 KEREBRO fF e
e %) B = =
1 = D fth (1) ERICL 2 REITFEO 2,

(2) BEIRMEEFIC L HEHEORECET D5 CERU4AEE
AEEF995) FH2SREBOIEICHE T B —MRfE B EEEE L < ITFSR9
THICHUE T D R EE B S EE T L D RKH2HEICHET D15 #0E
IZ 8D RFBEITRED 5,

(3) REOWEZZT, BHOMTIT L 2n3x, BOMPEBRICRS
BROERFEZ AAOWER 7 B LNICY RIS 5 2 &
EEORME L WIGEI2id, BHORMGER L7eEB’To 2R
L LT, YEEBNERMY SO LHEANH D,

(4)  JUIN H 5 A SRy BT 200 LR D5 Je OV U M 7 2 fig Jey A— 7
Hv 2= GT) FEHEEL NEESHEERGOZ &,

EiEEE
SHE)I RSP BB REMRR Ed

M1 1 0954—23—-7937 (HE#)
W2 :0954—23—-5151 (k)



